
ϕB=∫
S

B⃗.d A⃗ ϕB=B.A.cos(θ) A=πr2 A=lado2 A=b.h ϕB=N.B.A.cos(θ) ε=−Δϕ
Δ t

ε=−
dϕ
dt

ε=R.i Δϕ=ϕf−ϕi ε=B.L.v Potência=R .i2 Potência=
U2

R
ε=−L

di
dt

Potência=
En

Δ t
ϕ=L.i L=

μ0.N
2.A

l
ϕ1 em2=M.i1 ε2=−M

di1

dt
M=

μ0.N1.N2.A2

l

En=
L.i2

2
μB=

B2

2μ0

μB=
En

Volume
1
Leq

=
1
L1

+
1
L2

+...
1
Leq

=L1+L2+... U=U1+U2+U3+...

i=i1+i2+i3+...
Up

US

=
Np

NS

Upip=US.iS Np.ip=NS.iS η=
PotênciaS

Potênciap

Zp

ZS

=( Np

NS
)
2

F⃗=q E⃗

∮
c

E⃗ . dl=ε ∮
c

E⃗ .d l⃗=−
d ϕB

dt
∮
c

B⃗ .d l⃗=μ0(i+id)env i1=ε0
dϕE

dt
F⃗=q . v⃗x B⃗ ϕE=∫

S

E⃗ d A⃗

ϕE=E⃗ x A⃗ ϕE=E.A.cos(θ) id=i
dE

dt

=
1

ε0 A

dU

dt
=
i
C

dσ
dt

=
i
A

B=
μ0i

2πr
B=

μ0ir

2πR2

∮
S

E⃗ d A⃗=
qint
ε0 ∮

S

B⃗ d A⃗=0 V⃗. E⃗=
ρint
ε0 V⃗ . B⃗=0 V⃗ x E⃗=−

d B⃗
dt

V⃗ x B⃗=μ0.[ε0 d E⃗dt + J⃗] v=λ.t

i=∫ J⃗ . d A⃗ J⃗ .d A⃗=J.dA.cos(θ) V⃗ . H⃗=
dHx

dx
+
dHy

dy
+
dHz

dz
H⃗ .d A⃗=Hx.dAx+Hy.dAy+Hz.dAz

H⃗ .d l⃗=Hxdlx+Hydly+Hzdlz v=c=3.108 m /s V⃗ x H⃗=(dHz

dy
−
dHy

dz )î+(dHx

dz
−
dHz

dx )ĵ+(dHy

dx
−
dHx

dy ) k̂
f= 1

T
k=

2π
λ ω=2πf v=ω

k
y (x,t)=ym sen (kx±ωt+ϕ) f= 1

2π
. 1

√L.C
∂E
∂x

=
∂B
∂x

h=6,63.10−34js ∂B
∂x

=−μ0ε0
∂E
∂t

E (x,t)=Em sen (kx−ωt) B(x,t)=Bmsen (kx−ωt)

Em=c.Bm E=c.B c=
1

√μ0ε0
Potência=

Em

Δ t
I=

Potência
A

A=4π r2 A=πr2
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I=
En

Δt.A
S⃗=

1
μ0

E⃗ x B⃗ S= E.B
μ0

Iinstantâneo=|⃗S| I=Imédio=Smédio I=
Em
2

2μ0c
I=c.

Bm
2

2μ0

Erms=
Em

√2
Brms=

Bm

√2
μE=

ε0.E
2

2
μB=

B2

2μ0

μE=μB μonda=μB+μE Q=
Em

c
Q=

2Em

c
P=

I
c

E1=h.f En=n.h.f Potência=
n.h.f

Δ t
I= n.h.f

Δ t.A
F=

I.A
c

F=
2.I.A

c
P=

2I
c

Q=m .v (Qtotal)antes=(Qtotal)depois Qtotal=Q1+Q2+Q3+... I=
I0

2
I=I0.cos

2(θ)


